Worksheet 20
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1. What are the groups attached to the same carbonmcalled in an amino acid?
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Amino acids link together to form e otices or profeing

Distinguish between the four classes of amino acids.
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Identify each of the following as non-polar, polar, basic, or acidic.
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6. In nature, the D@somer is dominant.
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Worksheet 20

) | /@Met—Pm—Arg will have the same function as Pro-Arg-Met.
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2. T I@The number of peptide bonds is always the same as the number of residues.” %ch c bwf not linear

3. A peptide bond is a(n) Qi de linkage.

4. Write the four categories that peptides can be:
pain Killers
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5. Follow the steps below in forming a tetrapeptide of threonine, glutamic acid, lysine, and glycine.
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b. Next, combine the four with peptide bonds (remember, this is (C=0)-(NH). Number each
residue. T
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c. Draw arrows to the C»termmu?(carboxw termini), N-terminus (amino termini), and
peptide bonds.
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d. Write the three letter sequence. | e - Gl L%“" = %

e. Write the one letter sequence. Y & G

f.  How many peptide bonds does this have? 3

6. Draw and name 2 primary amines, 2 secondary amines, and 2 tertiary amines with the formula
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